ZADATAK ZA SRIJEDU. PREPIŠI I IZRAČUNAJ.
   1.)                                  2.)                                              3.)                                                                   
70  + 20 =                   70  -         =  10                            

70  -  40 =                   90  -         =  90              30 + 50 + 20 =

30  + 70 =                            - 30 =  30              60 + 30  - 40 =

100 - 50 =                           - 40 =  50             100 - 70 + 20 =

50  + 30 =                                                        90 - 30 -  20 =

70  -  70 =
